=I(SL

@® ®

KomnneKrauin

Components

[eTani KpoHLWTEHA
Details of the wall mount

HacTiHHMI KpOHWTENH

Wall plate

Mo3HayeHHA
Marking

@ 1

Kinbkictb
Quantity

KpoHwTelH KpinneHHA

1

Mounting bracket
MNo3HaueHHA Kinbkictb
Marking Quantity

[nAa KpinneHHA naacTUHKM A A0 CTiHK
For mounting the plate A to the wall

KomnneKr KpinneHHn
Set of fasteners

-

\

Mo3HayeHHA
Marking

©

Kinbkictb
Quantity

[ro6enb 10x50 3 wr.
LWypyn 6x60 3 wr.
LLlanba M6 3 wTt

Dowel 10x50 3 pcs
Screw 6x60 3 pcs
Washer M6 3 pcs

[Ona KpinneHHs KpoHwTeliHa B oo naHeni
For mounting the bracket B to the TV

/

MNo3HayeHHA
Marking

®

Kinbkictb
Quantity

BuWHT M4x12 4 wr.
BUHT M6x12 4 wrT.

Screw M4x12 4 pcs
Screw M6x12 4 pcs

\

J

® ®

=IKSL
PUKRY D

HacTiHHWIA KPOHLUTENH 3 Pery1boBaHUM KYTOM Haxuay Ta
nosopotom ana (LCD/LED) TeneBi3opiB i MOHiTOpIB
KSL WM111N

Mpu3HaYeHMn AnA naHenen 3 KpinuabHUM B10KoM
VESA 75x75, 100x100 i makcumanbHoto Baroto 20 Kr.

[akyemo 3a BMbip npoayku,ii KSL!
Bca npoaykuia KSL BupobnseTbea B YKpaiHi i Ha Hel HAAAETbCA A0OBIYHA rapaHTia!
ByAb nacka, yBarKHO 03HalMOMTeCh 3 aHO IHCTPYKLIEIO Nnepes NoYaTKOM BCTAaHOB/IEHHA KPOHLITENHY!
MOHTaX NOBMHEH NPOBOAMUTUCH Y CYBOPI BigNOBIAHOCTI A0 IHCTPYKLT!

IHCTPYKUiA 3 BCTAHOB/NEHHSA

HeobxiaHWI ANA BCTAaHOBNAEHHA IHCTPYMEHT:
— oniseup (418 PO3MITKM MicLb CBEPANIHHA)
— piBeHb (419 NPaBUABHOTO FOPU3OHTANbHOTO BCTAHOB/IEHHA KPOHLUTEWHA)
—nepdopatop i byp giameTpom 10 i LOBKMUHOI HE MeHLe 65 Mm
— BMKpPYTKa XpecToBa (419 NPUKPYYyBaHHA rBUHTIB J0 NaHeni)
— MOJIOTOK (ans 3abuBaHHA aHKepis abo ato6enis)
— K/1toy ravikoBuit Ne10 (a0 3akpyvyBaHHA rBUHTIB abo aHKepiB)

Wall mount with adjustable tilt
for LCD (LCD / LED) TVs and monitors

KSL WM111N

Designed for TVs with the mounting unit VESA 75x75, 100x100 and a
maximum weight of 20 kg.

Thank you for choosing KSL! All KSL products are made in Ukraine. Please read these
instructions before installing the wall mount! Installation should be carried out in strict
accordance to the instructions!

Installation Instructions

Tools required for installation:
— Pencil (to mark the drilling locations)
— The level (for proper horizontal mounting bracket)
— Punch and drill diameter of 10 and a minimum length of 65 mm
— Phillips screwdriver (to tighten the screws to the panel)
— Hammer (for driving anchors or dowels)
— Wrench Ne10 (for tightening the screws or anchors)




3aranbHi BUMoru 6e3nekun. KpoHLWTENH NpM3HaYeHWI A1 BCTAHOB/IEHHSA Y BHYTPILWHIX NPUMILLEHHSAX. [epL HiXX MOHTYBaTH
KPOHLUTEWH, nepeKkoHanTecs y BiACYTHOCTI MPOXOAMKEHHA Ha MiCLi KpinaeHHA enekTpuyHoro Kabento, rasonposoay,
CaHTEXHIYHUX PO3BOAOK i iHWMX KOMYHiKaui. Hikonu He BCTAaHOB/KOWTE YACTWMHM, WO MaoTb AedeKTn. KpinneHHsa, Wwo
BXOAMTb B KOMMEKT, Npu3HayeHe ans 6eToHHMX abo LeresbHUX CTiH, TOBLUMHA LUTYKaTypKWU He NOBMHHA nepesuLlyBatu 3
MM. 19 iHWKUX BUAIB CTiIH 3HAA0BWTLCA iHWE KpinaeHHs.

General safety requirements. The wall mount is designed for installation indoors. Before mounting bracket, make sure no
passing in place of mounting electrical cables, gas, plumbing and other communications interconnections. Never install parts
with defects. The included fasteners are designed for concrete or brick walls, plaster thickness should not exceed 3 mm. For
other types of walls need other fasteners.

Kpok 1
4 Step 1

~

BigKpyTMTU rBMHTM 3 OTBOpPIB 2, MOcnabuTu
rBUHTM B otBopax 1. MMicns yoro pos’efHaTv
KPOHLTEWH B i KpoHWTeNH A.

Remove the screws from the holes 2, loosen the
O] screws in the holes 1. Then disconnect the
bracket B and the bracket A.

<

\_

2N

Kpok 2
Step 2

BMKOPUCTOBYIOUM KPOHWTENH A y SAKOCTI WabnioHy, a
TAKOX PiBEHb 3 KOMMJIEKTY IHCTPYMEHTIB, PO3MITUTU MicLie
BCTAHOB/IEHHSA KPiN/JIeHHA; OTBOPY NMOBMHHI PO3TalLOBYBa-
TUCb TOPU3OHTaNbHO. BuKopucToBytoUM nepdopatop,
npocsepganMTn 3 OTBOPWU Yy CTiHIi Aiametpom 10mm i
rMMbuHo He meHwe 60 mm. BctasuTn arobeni C B oTBOpMU.
3aKpinMTM KPOHWTEMH A Ha CTiHi, BMKOPWUCTOBYHOYM
wypynu i warbu 3 komnnekty C. lNpu HeobxigHOCTI
[0BECTU NONOXKEHHA KPOHLITEMHA A 0 TOPU3OHTANbHOTO,
NPOKPYTUBLLM MOrO B OBa/IbHUX OTBOPAX.

Using A plate as a template and the level of the sets, mark
the place of the installation; holes should be placed
horizontally. Using a hammer, drill 3 holes in the wall with
a diameter of 10 mm and a depth of at least 60 mm. Put
the dowels C into the holes. Fix the plate A on the wall
using the supplied screws and washers C. If necessary bring
the position of the bracket A to the horizontal by scrolling it
in the oval holes.

Kpok 3 \
Step 3

Bubpat 3 KOMNAeKTy KpinaeHHa D rBuHTM
BiANOBIAHOI AOBXMHU i AiameTpy. BukopucTosyiite
Mlle po3Mip TBUHTIB, BKa3aHWW B iHCTPYKUii A0
Tenesizopal 3akpinMTM Ha naHeni Tenesi3opa
KPOHLITEWH B, BUKOPUCTOBYIOUM FBUHTU 3 KOMMAEK-
Ty KpinneHHs D.

Choose from a set of fasteners D screws of an
appropriate length and diameter. Use only the size of
screws specified in the instructions to your TV!
Fasten bracket B to the TV using the included screws
from the set D.

- /

YBara! Micns BCTAHOBNEHHA KPOHLUTENHY NepeBipuUTM HaAiMHICTb MOro KpinaeHHA A0 CTiHW.
Attention! After installation the plate check the reliability of the bracket to the wall.

- /

YBara! lMicna BCTaHOBNEHHA KPOHLUTEMHY NepeBipnTU HaAiMHICTb MOro KpinaeHHA A0 NaHeni Tenesisopy.
Attention! After installation, check the reliability of the bracket to the TV

/ Kpok 4
Step 4

Hasicutu naHenb Tenesizopa 3 KpinaeH-
HaM B Ha nnactuHy A, BuMbGpaBww
HeobXiAHWA  KyT  Haxuay  naHeni.
MoBHiCTIO BKPYTUTU ®iKCytodi FTBUHTU B
oTtBopu 1.

Hang the TV with the bracket B to plate
A, choose the desired tilt angle and fix
the screws into the holes 1.

N )

BUpobHUK Moxe 3MiHK8aMU KOMMAEKMAauyito ma XapakmepucmuKu supoby.
The manufacturer may change the fasteners set and specification the product.




